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Identify the cuboids which have a volume greater than 100m3
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Volume of a cuboid @

Discover

4cm

o ) How many | cm? cubes can fit into each box?

What is the volume of each box?

b) How can you work out the volume of each box by multiplying?

a) Find the number of | cm? cubes that can
fitinto each box. This is the volume.
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4xb=16 5 x 4 =20 cubes on
the bottom layer

16 x 4 = 64 cubes
20 x 3 layers = 60 cm?®

The volume of

Aki's box s The volume of Kate's

64 cm’. box is 60 cm’.

To find the volume of a cuboic

b) Volume =lxwxh  Volume=lxwxh el e the.
=bxbxbh =5x4x3
=16x4 =20x3 ,

=64 cm® =60 cm®

T can work
out length (1) x width (w) x height (h

I put cubes into each box
until it was full. Then 1
counted the number of

cubes. It took me a long time.

Tworked out how many
I em? cubes fit in the bottom
layer and then multiplied by
the number of layers. This

is the same as multiplying
length x width x height.

We can write
the formula for
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Think together

@ ok out the volume of each of the 30 solids.
a) Volume =4 x3x3
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Volume of a Cuboid

4. Circle the odd one out.
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5. Tick the cuboids which have a volume greater than 100m>.
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6. Three pairs of shapes make a compound 3D shape with @ volume < 200cm’.
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Which pairs of shapes are they?





